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ЗАДАНИЯ ДЛЯ ОТБОРОЧНОГО ТУРА. ТЕСТ № 1

· Конкурс на знание грамматики

Прочитайте микро-контекст, заполните пропуски грамматической формой, выбрав один из предложенных вариантов ответа. 
1.1. There’s a new pharmacy not far from here, just … the street from the baker’s.

	A. across
	B. in

	C. opposite
	D. through


1.2. There wasn’t a room … in a hotel, so we had to go and find some other place.

	A. found
	B. to be found

	C. to find
	D. to have been found


1.3. I can’t help … disappointed with the results of your test.

	A. being felt
	B. feeling

	C. to be feeling 
	D. to feel


1.4. Dr. Martin said the company … to add a floor to the building quite soon. 

	A. had been able
	B. is being able 

	C. will be able
	D. would be able 


1.5. Hardly … into the house when it started snowing. 

	A. had they come
	B. have they come

	C. they had come
	D. they have come

	A. Of which country is Vienna … capital?

B. −
	C. a

	D. an
	E. the


1.6. If he … the tickets in advance, we would have better seats now.

	A. booked
	B. had booked

	C. were booked
	D. were booking


1.7. Diana is … she seems.

	A. more hardworking
	B. not hardworking as

	C. not so hardworking as
	D. so hardworking


1.8. John stayed at his … cottage last night.

	A. a mother’s-in-law’s
	B. mother’s-in-law

	C. mother’s-in-law’s
	D. mother-in-law’s


1.9. The old man feared lest he … miss the bus.

	A. should
	B. shouldn’t

	C. would
	D. wouldn’t


1.10. … the end of August they should come back home.

	A. By
	B. For

	C. In
	D. On


1.11.  … there yesterday or are you going to do it tomorrow?

	A. Did you have go
	B. Did you have to go

	C. Had you go
	D. Had you to go


1.12. Last week I bumped into an old friend whom I hadn’t seen for ten years. 

 I stopped … to her.

	A. talk
	B. talking

	C. to talk 
	D. to talking


1.13. No one told me whether they … any opportunity to defend themselves.

	A. had been given
	B. had been giving

	C. had given
	D. will be given


1.14. Right now the tide is low, but when the tide …, the ship will be able to leave the harbor.

	A. come in
	B. comes in

	C. will come in
	D. will have come


1.15. He wanted to hide … embarrassment he felt at making his report.

	A. –
	B. a

	C. an
	D. the


1.16. If it hadn’t been for the last question, she … a perfect score on the test.

	A. got
	B. will get 

	C. would get
	D. would have got 


1.17. I don’t suppose you could walk …?

	A. a little bit slower
	B. a little slowest

	C. less slower
	D. little bit slower


1.18. This … good news, …?

	A. are…, aren’t they
	B. is …, isn’t it

	C. was …, isn’t it
	D. were …, isn’t it


1.19. I wish I … all that money, or I would have enough left to buy a new coat.

	A. hadn’t spend
	B. hadn’t spent

	C. won’t spend
	D. wouldn’t have spent


· Конкурс на знание тематической лексики

Прочитайте микро-контекст, заполните пропуски лексической единицей, выбрав один из предложенных вариантов ответа. 
1.20. Many city … feel isolated in giant apartment buildings or housing projects.

	A. people

	B. dwellers

	C. population
	D. dwarves


1.21. We used to stay up all night, having endless … arguments about politics.
	A. stormy
	B. furious

	C. angry
	D. heated


1.22. The tortoise agreed that the hare ran as fast as the wind but claimed that he could easily … him in a race.

	A. strike
	B. hit

	C. beat
	D. knock


1.23. On 18th October 1957 John Lennon and Paul McCartney first played together …
	A. alive
	B. lively

	C. live
	D. living


1.24. Young people are always trying to catch … with the latest style.
	A. up

	B. through


	C. with 
	D. –


1.25. He wonders … he could possibly get the job.

	A. weather
	B. whatever

	C. whenever
	D. whether


1.26. Salisbury Cathedral is a fine example of early medieval …
	A. painting
	B. music

	C. handwork
	D. architecture 


1.27. John skipped his class, as he didn’t want to … the test.

	A. take 
	B. pass

	C. examine
	D. check


1.28. You’ll notice that as soon as the children come home from school, the dog will jump up and show its great … for them.

	A. infection
	B. affection

	C. affectation
	D. protection


1.29. I love my job. I enjoy what I do so much because I … believe that I work with some of the best people in the world.

	A. mostly
	B. exactly

	C. truly
	D. strictly


· Конкурс по страноведению

 Прочитайте текст (микро-контекст), ответьте на вопрос или продолжите утверждение, выбрав один из предложенных вариантов ответа. 
1.30. The Mississippi River flows into …
	A. the Gulf of Alaska
	B. the Gulf of California

	C. the Gulf of Mexico
	D. the Gulf of St. Lawrence


1.31. Where was the first university in England founded? 

	A. In Cambridge
	B. In Leicester

	C. In London
	D. In Oxford


1.32. Who is called by the British people “Our National Bard”, “The Bard of Avon”? 
	A. Charles Dickens 
	B. Jane Austen

	C. Robert Burns 
	D. William Shakespeare


1.33. The Flag of the United States is called “Stars and Stripes”. What do the stripes represent?

	A. the diversity of life
	B. the national rivers

	C. the original states
	D. the oceans’ waves


1.34. The first president of the USA was …
	A. Abraham Lincoln
	B. George Washington

	C. Ronald Reagan
	D. Theodore Roosevelt


1.35. What is the National Gallery famous for?

A. It has the greatest collection of European paintings in the world.
B. It exhibits the works of man from prehistoric to modern times from around the world.
C. It is home to a permanent dinosaur exhibition.
D. It has one of the largest collections of arts and crafts including furniture, jewelry, ceramics and textiles.
1.36. What is the traditional Christmas desert in Britain?

	A. Christmas pudding
	B. Apple pie

	C. Carrot cake
	D. Cherries jubilee


1.37. What is the name of the red cross on the flag of England?

	A. St Andrew’s Cross
	B. St George’s Cross

	C. St Patrick’s Cross
	D. The Union Jack


1.38. What is a special day in England set aside to remember all those men and women who were killed during the two World Wars and other conflicts?

	A. Victory Day
	B. The Day of Peace

	C. Eternal Light Day
	D. Remembrance Day


1.39. What historical event gave rise to the Bonfire Night?

	A. Bishops’ Wars
	B. The Gunpowder Plot

	C. The Battle of Hastings
	D. The Battle of Trafalgar


· Конкурс на знание фонетики и орфографии
Напишите слово по транскрипции в соответствии с британским вариантом правописания.

1.40. [ˌentə'teɪnmənt]
1.41. ['fiːʧə] 

1.42. ['leɪblɪŋ] 

1.43. ['mɔdənaɪz] 

1.44. ['sentə] 

1.45. [wɪð'drɔː] 

Прочитайте предложение (микроконтекст), заполните пропуски, выбрав один из предложенных вариантов ответа.

1.46. It’s a tsar’s …
	A. throne 
	B. trone

	C. thron
	D. throun


1.47. She ​blushed with …
	A. embarrasment 
	B. embarrassment

	C. embarassment 
	D. embarrassement 


1.48. How rude! He didn’t even … 

	A. knok 
	B. nock 

	C. knock 
	D. nok


1.49. I … ​dropped the vase.
	A. accidentally 
	B. accidentelly 

	C. accidentaly 
	D. acidentally


· Ключи к Тесту № 1

	1A
	11A
	21B
	31C
	41 entertainment

	2B
	12B
	22D
	32D
	42 feature

	3B
	13C
	23C
	33D
	43 labelling

	4D
	14A
	24C
	34C
	44 modernise

	5A
	15B
	25A
	35B
	45 centre

	6D
	16D
	26D
	36A
	46 withdraw

	7B
	17D
	27D
	37A
	47A


	8C
	18A
	28A
	38A
	48B

	9D
	19B
	29B
	39D
	49C

	10A
	20B
	30C
	40B
	50A


ЗАДАНИЯ ДЛЯ ОТБОРОЧНОГО ТУРА. ТЕСТ № 2

· Конкурс чтения и понимания письменных текстов 

Установите соответствие между фрагментами текстов и тематическими рубриками газеты. Внимание! 1 рубрика является лишней. 
	2.1. War photography is associated with black-and-white images taken in the heart of action, such as Robert Capa’s shots. Such pictures helped make Capa one of the most famous photojournalists. Yet he is all but absent from “Conflict, Time, Photography”, a new exhibition at Tate Modern. The focus is on those who looked back on the action years later.
	A. World politics
B. Economics


	2.2. Richard Mudabe sacked his vice-president, Joyce Mugaru, and seven ministers in a purge that cleared the way for Emerson Mnangagwa, the hardline former justice minister, to become his likeliest successor. Ms Mugaru denied accusations of corruption and plotting to kill Mr Mudabe.
	C. Science and technology


	2.3. Driving an electric car confers a badge of greenery, or so the marketing departments would have you believe. Yet a report which analyses the car emissions presents a different picture. A battery-powered car recharged with electricity generated by coal-fired power stations is likely to cause more than three times as many deaths from pollution as a conventional petrol-driven vehicle.
	D. Culture



Установите соответствие между частями предложения связного текста. Внимание! 1 часть предложения является лишней.

	2.4. More people speak English than any other language, but according to English language expert David Crystal, …
	A. these new English speakers aren’t just learning the language 

B. new words are being invented 

C. there are hundreds of different types of English

D. non-native speakers now outnumber native speakers by three to one

E. is also changing

F. in Asia had reached 350 million

G. about half the world’s population will speak it

	2.5. By the end of last year, the number of adult English speakers …
	H. 

	2.6. And according to the British Council, in ten years’ time 2 billion people will study English and …
	I. 

	2.7. The way that people study English …
	J. 

	2.8. … they are changing it.
	K. 

	2.9. … every day all over the world.
	L. 


· Конкурс на знание грамматики 

Определите, в грамматически правильной или неправильной форме употреблено выделенное слово / слова в данном контексте. 
	A. True
	B. False


2.10. You will get into all sorts of problems unless there isn’t this clause in your contract. You absolutely have to include it.

2.11. Mattie is by far the best lawyer you’ve ever seen, don’t you agree?

2.12. “She is my sister.” – “I should guess the moment I saw her, you look so much alike.”

2.13. I still have two projects to complete. One is History, the other is Literature.

2.14. The airport announced it was set to clock up more than 60 million passengers in the end of the year.
2.15.  So far, his victory has been covered on the local newsbreaks only.

2.16.  Quarterly means something that happens four times the year.
2.17.  We asked Franny if she would go back to school after the holidays.

2.18.  I wish I didn’t overlook that error. I’m really sorry I did.

2.19.  The tornado is reported to have damaged some buildings in the area, but no one was hurt.
Установите соответствие между допущенной во фразе ошибкой и характером допущенной ошибки. Внимание! 1 вариант ошибки является лишним! 
	2.20. The place was deserted. It looked as if no one was there for quite a while.
	A. Неправильное местоимение 

	2.21. A house was beautiful. Martin looked at it in amazement.
	B. Неправильная форма причастия 

	2.22. “Would you like nothing to eat?” she suggested, knowing she had to be polite.
	C. Неправильная форма глагола
D. Неправильный артикль


	2.23. If the children didn’t come home so late that night, they would have been scolded.
	A. Неправильная форма прилагательного 

B. Неправильный артикль 

C. Неправильная форма инфинитива

D. Неправильная форма глагола

	2.24. He seems to be sleeping for a long time, we should wake him up.
	E. 

	2.25. It’s time Derek should start looking for the better-paid job.
	F. 


	2.26. I watched the car having disappeared down the street.
	A. Неправильная форма глагола

B. Неправильная форма существительного

C. Неправильное местоимение

D. Неправильная форма причастия

	2.27. He saw that the sheep was all grazing in the field.
	E. 

	2.28. I’ve been watching this show since her premiere in 2003.
	F. 


Установите соответствие между пропуском и грамматической формой. Внимание! 1 грамматическая форма является лишней.

	2.29. Why can’t you two get …?
	A. off

	2.30. She usually gets … by bus.
	B. along

	2.31. She got … her cold quite quickly.
	C. over

	
	D. around


· Конкурс на знание лексики
Установите соответствие между репликой (высказыванием) и ситуацией общения. Внимание! 1 ситуация является лишней. 
	2.32. What’s the purpose of your visit to the United States?
	A. At the theatre

B. In the cinema

	2.33. Can I have the bill now?
	C. 

	2.34. I’m here to see Shakespeare’s famous play “Hamlet”.
	D. Passport control

E. At the restaurant


Установите соответствие между пропуском слова в связном тексте и словом из предлагаемого списка. Внимание! 1 слово является лишним.

	2.35. The Hunger Games is an American science fiction … directed by Gary Ross and based on the novel of the same name.
	A. book 

B. the guidance
C. take her younger 
sister’s place 

D. take part
E. fight to the death

F. adventure film

	2.36. The story takes place in a post-apocalyptic future in the nation of Panem, where boys and girls between the ages of 12 and 18 must … in The Hunger Games.
	G. 

	2.37. The competition is a televised annual event in which the “tributes” are required to … until there is one remaining who will be crowned the victor.
	H. 

	2.38. Katniss Everdeen volunteers to … in the games.
	I. 

	2.39. Joined by her district's male tribute Peeta Mellark, Katniss travels to the Capitol to train for the Hunger Games under …. of former victor Haymitch Abernathy.
	J. 


Установите соответствие между выделенным словом и его значением в данном контексте. Внимание! 1 слово-эквивалент является лишним. 
	2.40. We were still cleaning the house when the guests started to arrive.
	A. rebuke 

B. calm down

C. motionless

D. as yet

	2.41. The water appeared still from a distance.
	E. 

	2.42. Her quiet words still the animal.
	F. 

	2.43. A man should know where the golden mean is.
	A. greedy 

B. balance

C. average

D. have in mind

	2.44. He is mean about money.
	E. 

	2.45. What do you mean?
	F. 


Подберите антоним к выделенным словам. Внимание! 1 антоним является лишним. 
	2.46. The houses on this side of the street all have odd numbers.
	A. curious 

	2.47. I had a very odd dream about you last night.
	B. regular 

C. ordinary

D. even

	2.48. I used to do a lot of sport, but now I just play the odd game of tennis.
	E. 


Установите соответствие между пропуском слова в предложении и словом из предлагаемого списка. 
	2.49. She wore a … black dress.
	A. plane 

	2.50. We’ll be boarding the …. in about 20 minutes.
	B. plain


· Ключи к тесту № 2 

	1D
	2A 
	3C
	4D
	5F
	6G
	7E
	8A
	9B
	10B

	11A
	12B
	13A
	14B
	15A
	16B
	17A
	18B
	19A
	20C

	21D
	22A
	23D
	24C
	25B
	26D
	27A
	28C
	29B
	30D

	31C
	32C
	33D
	34A
	35F
	36D
	37E
	38C
	39B
	40D

	41C
	42B
	43B
	44A
	45D
	46D
	47C
	48B
	49B
	50A


ЗАДАНИЯ ДЛЯ ЗАКЛЮЧИТЕЛЬНОГО ТУРА
· Интегрированный конкурс понимания устной и письменной речи (Аудирование + Чтение)

Прослушайте дважды аудиозапись
 и выполните задания. 

Аудиозапись № 1: You will hear an interview with Julie Sanders, a specialist in ‘voluntourism’, who is talking about volunteer organisations. 

3.1. What is the main topic of the text?

A. The notion of ‘voluntourism’

B. The future of ‘voluntourism’ projects

C. The differences between volunteer organisations

3.2. Define the type of a radio programme which this recording best represents.

A. Feature

B. Bulletin

C. Roadshow

3.3. Choose 5 out of 8 words and phrases that can be used as hashtags to search for this recording.

A. Commercial interests

B. Tailor-made charitable project

C. Working conditions

D. Volunteer work

E. Long-term viability

F. Non-profit organisation

G. Garbage dump settlement

H. Primitive sanitation

Now you will hear the recording again and then read a passage on the same topic. For questions 3.4 – 3.7 choose the best answer (A, B, C or D).

A. means that the information is contained in both the listening and reading passages.

B. means that the information is contained in the reading passage only.

C. means that the information is contained in the listening passage only.

D. means that the information is contained in neither.

A combination of volunteering and tourism, ‘voluntourism’ is a popular form of international travel that allows people to contribute to sustainable development while exploring a new country and culture. Yet these efforts to help people and the environment have come under heavy criticism. Voluntourists’ ability to change systems, alleviate poverty or provide support for vulnerable children is limited. They simply don’t have the skills. They often enter local communities with little understanding of their history, culture, and way of life. All they understand is the poverty and the presumed neediness of the community. These problems do not mean that volunteer work should be abandoned, but volunteer experiences need to be reframed and programmes reworked. Any organisation taking people to volunteer sites ought to be preparing them with adequate information before they go as well as opportunities for critical discussion during and after their trips.

3.4. All of the ‘voluntourism’ organisations are non-profit. 

3.5. Some ‘voluntourism’ organisations should be avoided.

3.6. The main focus of ‘voluntourism’ projects is related to infrastructure issues.

3.7. Volunteers should travel but be better informed about their destination and who they are going to help. 
Аудиозапись № 2: You will hear an interview with Dr Amanda Reynolds, medical researcher and specialist in infectious diseases, who is talking about antibiotics. 
3.8. What is the main topic of the text?

A. The improvements in hygiene in hospitals and at home

B. The prospects of antibiotics

C. Research into the development of new antibiotics
3.9. Define the type of a radio programme which this recording best represents.

A. Bulletin

B. Feature

C. Docudrama

3.10. Choose 5 out of 8 words and phrases that can be used as hashtags to search for this recording.

A. Cost-effective research
B. Drug-resistant bacteria
C. Hygiene
D. Effectiveness of antibiotics
E. Optimistic outlook

F. Incomplete antibiotic treatment

G. International medical tourism

H. Fleming’s warning

Now you will hear the recording again and then read a passage on the same topic. For questions 3.11 – 3.14 choose the best answer (A, B, C or D).

A. means that the information is contained in both the listening and reading passages.

B. means that the information is contained in the reading passage only.

C. means that the information is contained in the listening passage only.

D. means that the information is contained in neither.

The world is facing a potentially disastrous future: the antibiotics we use to cure everyday infections are becoming useless against certain bacteria. If this post-antibiotic era comes to pass, by 2050 it could kill more people every year than cancer. Sadly, Scottish scientist Sir Alexander Fleming predicted this fate 80 years ago, soon after he made his famous accidental discovery in 1928. 12 years after Fleming’s discovery, scientists purified and concentrated penicillin and successfully tested it on humans. This helped to usher in an era of incredible advances in medicine spanning the 20th century. But it also set the stage for an even more dangerous period in history, the coming post-antibiotic era, in which most minor infections won’t be easily treatable with the drugs we have today. In part, this is due to the fact that incomplete and interrupted treatment contributes to persistent or resistant infection, complications of the disease, and increased risk of transmission of resistant organisms to others.
3.11. Drugs such as antibiotics tend to become ineffective after a short period of time.
3.12. A new gene increases the effectiveness of antibiotics. 

3.13. If you fail to finish your course of antibiotics, you increase the risk of bacteria becoming drug-resistant.
· Alexander Fleming advised that the use of antibiotics should be tightly controlled.
· Конкурс понимания письменного текста (Чтение)

Прочитайте текст и выполните задания к нему. 
Текст № 1

A recent survey found that in British primary schools up to a quarter of pupils reported experience of bullying. (№1) There was less bullying in secondary schools, but these cases were particularly severe. (№2)

Bullying is unpleasant and can make the child feel depressed. (№3) Bullied pupils are more likely to experience difficulties with relationships as adults, while bullies are more likely to grow up to be physically violent. (№4)

Until recently, not much was known about the topic. (№5) As a consequence, schools often denied the problem. (№6) “There is no bullying here,” educators used to say. (№7) Fortunately, more schools are now saying: “There is not much bullying here, but when it occurs we have a clear policy for dealing with it.” (№8)

Three factors are involved in this change. (№9) First is an awareness of the problem. (№10) Second, a number of resources to help tackle bullying have become available. (№11) For example, a package of materials, Action Against Bullying, has been circulated to schools. (№12) Third, there is evidence something can be achieved. (№13) This comes from “before and after” evaluations. (№14)

A key step is to develop a policy on bullying, saying clearly what bullying is, and explaining what will happen if it occurs. (№15) The policy should be developed and implemented over a period of time, involving pupils, parents and staff. (№16)

Different actions can be taken to back up the policy. (№17) The topic can be dealt with through the curriculum. (№18) Work in the playground is important, too. (№19) The first helpful step is to train lunchtime supervisors to break up conflicts. (№20) Another possibility is to improve the playground environment so that pupils might not be led into bullying from boredom. (№21)

With these developments, schools can prevent the most serious kinds of bullying. (№22) The more effort is put in, the more substantial the results are likely to be. (№23)

4.1. Choose an appropriate headline for this article:

A. BULLYING: WHAT TEACHERS CAN DO

B. BULLYING: DENIAL

C. BULLYING: FROM AWARENESS TO PREVENTION

4.2. Choose the section of a newspaper / magazine where you could find this article.

A. Society

B. Parenting

C. Education

4.3. Choose FIVE key words or expressions which could be used as hashtags while searching for the article online.
	A. Bullied pupils
	B. “Before and after” evaluations

	C. Tackle bullying
	D. Break up conflicts

	E. Feel depressed
	F. Prevent the most serious kinds of bullying

	G. Helpful step
	H. Experience of bullying


4.4. True or false? Choose the correct variant and enter the sentence(s) which confirm(s) your choice.
A recent survey suggested that bullying tended to occur more often in British primary schools than in secondary schools.
A) True

B) False     Justification: sentence(s) №№ ………….

4.5. True or false? Choose the correct variant and enter the sentence(s) which confirm(s) your choice.
Tackling bullying is something to be achieved by educators alone.

A) True

B) False        Justification: sentence(s) №№ ……….…

4.6. Give proof of the following using a sentence / sentences from the text: “Schools often denied the problem.” …………………………………………..
……………………………………………………………………………...

Find equivalents from the text you have read to the words below:

4.7. make something start to work = …….……………..………………………

4.8. facts that help to prove something = …………………………………..…..
4.9. large in amount or degree = ………………………..……...……………….
4.10. support = ……………………………………………………………...……
Find examples of some grammatical forms from the text you have read:

4.11. Adjective in superlative degree – ……………...………………………….

4.12. Objective-with-the-Infinitive Construction – ……………………………...

4.13. Participle II as an attribute – ……………………………….………………
4.14. Indefinite pronoun – …..………………………………...…………………

Текст № 2

New rules paving the way for a Monaco-style street-based grand prix have come into force, allowing motor sports on closed public roads. (№1) The changes will clear the way for motor sports promoters to apply for permission to stage races on public highways in England, from small-scale local events to international races such as a city-based grand prix. (№2) 

Andrew Jones, the transport minister, said the new rules would strengthen Britain’s position as a world leader in motor sports and said the idea had received overwhelming public support. (№3) The suggestion that London might hold a grand prix has been around since 2011. (№4) However, the prospect of a London grand prix has been ruled out for the foreseeable future after a spokesperson for the mayor of London said he would only support an event if Formula One teams significantly reduced the air pollution from their vehicles. (№5) 

Despite that, the Department for Transport (DfT) said the new rules could lead to “small races hosted by local communities, bigger European rallies or even a future Monaco-style grand prix in an English city”. (№6)

Under the new rules, the Motor Sports Association in the UK and Auto Cycle Union will be authorized to issue race permits. (№7) Local authorities will have the final decision over whether a race can go ahead and may require additional safety measures before, during or after the event, the DfT said. (№8)

The changes come despite some people raising concerns that allowing races on highways could lead to a “speed culture” among drivers. (№9) Transport for London said an event route could attract “unofficial races where riders or drivers use the road at speed,” possibly leading to an increase in road deaths. (№10)

Westminster council, which is responsible for many of London’s most recognizable landmarks, said during the consultation that it would not consider hosting an on-road event, as it was concerned about the impact on businesses and buildings of historical significance. (№11)

4.15. Choose an appropriate headline for this article:

A. THE IMPACT OF THE ON-ROAD EVENT 

B. WAY CLEARED FOR MOTOR SPORTS ON ENGLISH ROADS 

C. STREET-BASED GRAND PRIX RACES IN UK

4.16. Choose a section of a newspaper / magazine where you can find this article.

A. Environment / pollution

B. Business / economy

C. Politics / transport policy

4.17. Choose FIVE key expressions which you can use as hashtags while searching for the article online to report on the topic in class.
	A. Motor sport
	B. London’s landmarks

	C. Road safety
	D. Department for transport

	E. Public support
	F. Speed culture

	G. Formula One
	H. Public roads


4.18. True or false? Choose the correct variant and enter the sentence(s) which confirm(s) your choice.

The mayor of London’s main concern about street-based motor racing is air pollution.

	A. True     
	B. False          
	Justification sentence(s) №№ ……


4.19. True or false? Choose the correct variant and enter the sentence(s) which confirm(s) your choice.
Westminster council supports the idea of a London grand prix. 

	A. True     
	B. False          
	Justification sentence(s) №№ ……


4.20. Comment on the statement from the text: “The transport minister said the new rules would strengthen Britain’s position as a world leader in motor sports.”……………………………………………………………………
………………………………………………………………………………………

Find equivalents from the text you have read to the words below:
4.21. extra and often more than expected = …………………………………….
4.22. by a large amount or in a way that is easily noticeable = …………………
4.23. organize the event = ……………………………………………………….
4.24. discussion between people or groups before they make a decision = …….

Find examples of some grammatical forms from the text you have read:
4.25. Adjective in superlative degree – ………………………………………….
4.26. Possessive pronoun – ………………………………………………………
4.27. Gerund as a subject – ………………………………………………………
4.28. For-to-Infinitive Construction – …………………………………………...
Текст № 3
There are now over 700 million motor vehicles in the world – and the number is rising by more than 40 million each year. (№1) The dependence on motor vehicles has given rise to major problems, including environmental pollution, traffic congestion and safety. (№2)

Until a hundred years ago, most journeys were in the 20 km range, the distance conveniently accessible by horse. (№3) Heavy goods could only be carried by water or rail. (№4) The invention of the motor vehicle brought personal mobility to the masses and made rapid goods delivery possible over a much wider area. (№5) Nevertheless, in Europe, with narrow streets, few parking lots and ring roads, most cities are still designed for the old modes of transport. (№6) Clearly, the world cannot return to the horse-drawn wagon. (№7) Can it avoid being locked into congested and polluting ways of transporting people and goods? (№8)

The European Federation for Transport and Environment found that car transport is seven times as costly as rail travel in terms of the external social costs it entails such as congestion, accidents, pollution, depletion of oil resources, and so on. (№9) Yet cars easily surpass trains or buses as a flexible and convenient mode of personal transport. (№10)

One solution that has been put forward is the long-term solution of designing cities and neighbourhoods so that car journeys are not necessary – all essential services being located within walking distance or easily accessible by public transport. (№11)

A more likely scenario seems to be a combination of mass transit systems for travel into and around cities, with small “low emission” cars for urban use and larger hybrid or lean burn cars for use elsewhere. (№12)

Besides, technical solutions can reduce the pollution problem and increase the fuel efficiency of engines. (№13) However, in most developing countries, old cars and old technologies continue to prevail. (№14)

4.29. Choose an appropriate headline for this article:

A. ENVIRONMENTAL PROBLEMS CAUSED BY CARS

B. MOTOR CARS

C. CAR AND RAIL TRAVELLING

4.30. Choose the section of a newspaper / magazine where you could find this article.

A. Tourism

B. Technologies

C. Transport

4.31. Choose FIVE key expressions which you can use as hashtags while searching for the article online to report on the topic in class.

	A. Environmental pollution
	B. “Low emission” cars

	C. Developing countries
	D. Likely scenario

	E. Heavy goods
	F. Transit systems

	G. Traffic congestion
	H. Motor vehicles


4.32. True or false? Choose the correct variant and enter the sentence(s) which confirm(s) your choice.

Most European cities were not designed for motor vehicles.

	A. True

	B. False
	Justification: sentence(s) №№ ……


4.33. True or false? Choose the correct variant and enter the sentence(s) which confirm(s) your choice.

Transport by horse would be a useful alternative to motor vehicles.

	A. True

	B. False
	Justification: sentence(s) №№ ……


4.34. Give a short answer to the question from the text: “Can it avoid being locked into congested and polluting ways of transporting people and goods?” Write down the numbers of three sentences in which justification can be found. ……………………………………………………………………..

………………………………………………………………………………………Find equivalents from the text you have read to the words below:

4.35. extremely important = ……….…………………………………………….
4.36. a situation in which a place is crowded with vehicles = …………………..
4.37. comfortable = … …………………………………………………………..
4.38. the area of a town that surrounds someone’s home = …..…………………
Find examples of some grammatical forms from the text you have read:
4.39. Adjective in comparative degree – ………………………………………...
4.40. Adjective + Participle II compound – ……………………………………..
4.41. Gerund as an Object – ……………………………………………………..
· Subjective Infinitive Construction – ………………………………………
· Конкурс на знание грамматики
Преобразуйте выделенную часть предложения в соответствии с указанием, содержащемся в скобках.  
5.1. The hotel manager said that but for difficult financial situation / (conditional clause) ……………………………..…, they wouldn’t be firing so many people.
5.2. “I would like you to stop / (subjunctive mood after the verb “to wish”) ………………………………………….…...… teasing that kid,ˮ Ralph demanded. “It’s bullying.”

5.3. The journalist asked the film director, Mr. Blane, “Were you trying / (reported speech) ……………………… to send a message to the audience?”
5.4. In 2016, dogs were banned on the New York subway unless kept / (conditional clause) …………………………………………… in a bag.

5.5. Why don’t you get rid of / (subjunctive mood after the expression “Isn’t it time”) ………………………………… those wasps? They are dangerous.

5.6. We all stared at him in disbelief. “I lied to you, yes, but I only did it so that you might let me / (for-to infinitive construction) …………………… stay here. I was going to explain it all later,” he said softly.
5.7. She said her husband would be taken to County General Hospital and held there until operated on / (time clause) ………………………………… .

5.8. “It seems to me that we have been walking / (subjective infinitive construction) ……………………………… in circles for a while,ˮ Larry muttered. “We’re lost, admit it.”
5.9. Rita wondered how much it would cost to ask the people at the flower shop to deliver some flowers / (objective participial construction after the verb “to have”) …………………………………………… to her parents’ place for their wedding anniversary.

5.10. Just after he had been told / (gerund) …………………………………… about the prospective tour to the island, Jerome came down with a really bad cold.

5.11. Ms Halloran asked her students to fill out / (objective-with-the-infinitive construction after the verb “to make”) …………………………………… their reports online.
5.12. “I want you to try / (subjunctive mood after the verb “to wish”) …………………………… to avoid such jokes. They are inappropriate,ˮ the HR manager warned her.

5.13. “But for her stubbornness / (conditional clause) ………………………, we would have come to some agreement about the student loan long ago,” the counsellor complained.
5.14. They know Evan was involved / (subjective infinitive construction) ………………………………………… in the project from 2002 to 2011. 

5.15. I’m fairly certain that Walter will be found innocent if tried / (conditional clause) ……………………………………………… for tax fraud.

5.16. Riley asked her flatmates, “Were you going to clean this mess up?” / (reported speech) ………………………………………………

5.17. Why don’t you find / (subjunctive mood after the expression “Isn’t it time”) ……………………… someone who can crack this code for you?

5.18. Lucy claimed that she would sue the hospital board unless offered / (conditional clause) …………………… another position in the hospital.

5.19. The manager apologized because the waiter had forgotten / (gerundial construction) …………………………….……………… about my order.

5.20. “I ordered to have the lights in the room dimmed so that the witness might feel / (for-to infinitive construction) ……………………………… more comfortable,” the detective explained.
5.21. The suspect gave his permission to the police to search / (objective-with-the-infinitive construction after the verb “to let”) ……………………………………… both the house and the laboratory.
5.22. They say he was threatening / (subjective infinitive construction) …………………………………… to expose Philippa’s private messages. 

5.23. The doctor explained that the patient’s high blood pressure, if allowed / (conditional clause) ……………………………………………… to go on for a long period of time, could affect his heart and kidneys.

5.24. Frannie exclaimed, “I certainly want her to let / (subjunctive mood after the verb “to wish”) ……………………………………… me know if she encounters problems again! I worry about her. I worry about her a lot.ˮ

5.25. You’ve been working too hard. Why don’t you take / (subjunctive mood after the expression “Isn’t it time”) ………………………… a vacation?

5.26. You know, Tricia, but for your trying so hard / (conditional clause) ……………………… to take control, none of this would have happened.

5.27. Since the company took their town and their land, there is nothing that they can do / (for-to infinitive construction) ………… . There is no work. 
5.28. “He is fantastic!” Tina told her friends. Then she asked them, “Have you been following him on Facebook?” / (reported speech) …………………

5.29. The police suspected that the burglars had set / (gerund) ……………………… a fire alarm off several blocks away to divert them.

5.30. When the tooth is decayed, the decay will continue to spread and get worse unless treated / (conditional clause) ………………… by a dentist.
· Конкурс на знание лексики

Прочитайте текст. Заполните пропуски ОДНИМ словом, подходящим по смыслу. 
Текст № 1
Britain has become a gadget-obsessed nation, watching more television online and using smartphones and tablets to access the web more than any of the world’s leading economies, (6.1.) __________ to new research.

The British love of the latest devices has even seen the UK overtake Japan in mobile internet use. The research compared data across 17 countries, (6.2.) _________ the US, China, India, Russia, Brazil, Sweden, France and Germany.

An obsession with Facebook, Twitter and Gangnam style clips on YouTube has seen UK consumers download 424 megabytes of data each (6.3.) __________ month on their smartphones and tablets. The figure is almost 60% more than a year (6.4.) _________.

Much of the (6.5.) __________ in use of smartphones has been driven by the popularity of social networking sites (6.6.) __________ as Facebook and Twitter, with 40% of UK adults accessing their profiles on the go. British 18- to 24-year-olds are the world’s top mobile social networkers, with 62% accessing their profiles from smartphones and tablets.
UK internet users (6.7.) __________ an average of 728 minutes (more than 12 hours) a week online in total, although this is a slight drop from the 746 minutes recorded in the last report.

The British love of the latest gadgets is also seen in the changing face of the living room. Almost 24% of TVs sold in the UK in the first quarter of this year were “super large” – bigger (6.8.) _________ 84cm.

(6.9.) ___________ the rise of digital technology, good old-fashioned linear TV viewing is showing no signs of losing its popularity. TV viewing in the UK has (6.10.) __________ stable at 242 minutes – more than four hours – per person daily.

Текст № 2

On Sunday 23 April, more than 30,000 people (6.11.) _________ in the 2017 London Marathon, running 26.2 miles (42.2 kilometres) around the city center. The London Marathon has taken (6.12.) _________ every year since 1981. At the first one just 6,225 people completed the course, and since then it has grown into one of the biggest sporting (6.13.) _________ in the world. 

There are currently eleven people who have run every London Marathon since it began – they call (6.14.) ___________ the ‘Ever Presents’.

Most marathon runners are not professional athletes. They are amateurs who have trained for months to run to (6.15.) _________ money for charity or just as a personal challenge. Many people choose to do fun things to make them stand (6.16.) ___________ like wear silly costumes or do things instead of just running. For example, Tom Harrison took three days just to reach the run’s halfway point, as he was crawling the course on his hands and knees dressed as a gorilla, trying to draw (6.17.) __________ to the charity ‘The Gorilla Organization’.

Another highlight from this year’s race is the story of Jackie Scully and Duncan Sloan, who got married on the morning of the marathon. They both then ran the race, with Jackie doing it in her (6.18.) _________ dress. They were running for cancer charities, as Jackie was diagnosed (6.19.) ___________ breast cancer three years ago. 

Matthew Rees was another runner to inspire people, as he stopped just before the finish line to help David Wyeth run the last 200m. They did not know each (6.20.) __________ before, but Matthew saw that David was exhausted and possibly close to collapsing, and wanted to help him finish.

Every year there are lots of inspiring stories from the London Marathon, and it is a huge achievement even to run the 26.2 miles.

Текст № 3
The UK has tons of quirky traditions. One of those is pancake racing. This tradition stems from Shrove Tuesday, or, as many like to (6.21.) __________ it, Pancake Day. It is a Christian tradition before the start of Lent. Lent is the period between Shrove Tuesday and Easter Sunday, when Christians traditionally (6.22.) __________. On Shrove Tuesday, people across the UK make and eat pancakes in order to use (6.23.) ___________ the food that they have in their houses before the start of Lent.

Pancakes in the UK are large and thin and can be (6.24.) ___________ with either savoury or sweet ingredients. People make pancakes in their homes but you might also find that some schools or businesses (6.25.) ____________ special Pancake Day events – one of which is pancake racing.

In a typical pancake race, contestants have to run holding a frying pan with a pancake in it. As contestants run, they have to toss the pancake in the (6.26.) ___________ so that it flips and lands back in the pan on the other side. The winner is the first to reach the finish line, although they should also be careful to (6.27.) ___________ sure that the pancake is complete and that it hasn’t broken along the way.

One of the most famous pancake races is the Rehab Parliamentary Pancake Race. This takes (6.28.) ___________ on the morning of Shrove Tuesday in London, outside the Houses of Parliament. The race is a (6.29.) __________ between two teams – one team of Members of Parliament (MPs), and one team of journalists. The race is shown on the news and is covered on TV all around the world. And as well as a bit of fun, the race is also held for a good cause. It raises awareness for the charity Rehab, which works with people with disabilities and others who suffer (6.30.) ___________ social exclusion in the UK.
· Конкурс письменной речи (Письмо)
Напишите эссе объёмом в 200-250 слов по предложенной теме. 
7.1. Oxford Dictionary called “Youthquake”, which means “significant cultural, political, or social change arising from the actions or influence of young people”, the most popular word in the English-speaking world in 2017. In which way can young people affect life in their country? Illustrate your point of view with the examples of such influence in Russia and in an English-speaking country.

7.2. What three words can you use to characterize the English nation? Justify your point of view and give examples.
7.3. Do you agree that a person who makes or performs music (a composer, a musician, a conductor, a singer, etc.) can teach us how to live? What person in the music industry, how and why affected your perception of life? NB! Do not translate music/song title(s) into English.
7.4. Some people say that the English language affects the existence and the development of other European languages negatively. Do you agree with this opinion? Justify your point of view and give examples.
РАЗБОР КОНКУРСНЫХ ЗАДАНИЙ С КОММЕНТАРИЯМИ

· Интегрированный конкурс понимания устной и письменной речи /(Аудирование и чтение)

	№ №
	Ответ
	Комментарии / Фрагмент аудиозаписи № 1

	3.1
	С
	“There are so many organisations out there, so I’m just going to run through a few that I know can be trusted because, believe me, some cannot. These vary from very small charities specific to one community to others which offer a vast number of different trips and different timeframes.”

	3.2
	A
	“Feature: a part of a programme on television or radio that concentrates on a particular subject” (в данном случае основной темой обсуждения являются волонтёрские организации).

	3.3
	B, C, D, F, G
	Следующие слова и фразы не являются ключевыми для понимания содержания текста и не могут использоваться в качестве тэгов для поиска данной аудиозаписи:

Commercial interests – противоречит основному содержанию текста, так как в тексте описываются волонтёрские организации, не имеющие коммерческих интересов: “So, you’d like to know a little more about ‘voluntourism’, but you’re worried about choosing the wrong charity or even about there being other commercial interests involved in the package… There are so many organisations out there, so I’m just going to run through a few that I know can be trusted because, believe me, some cannot.”
Long-term viability – в тексте не упоминается, насколько долго и успешно работают описываемые волонтёрские организации; прилагательное long-term используется в другом контексте: “Projects like this are good because they should have long-term benefits.”
Primitive sanitation – данное сочетание не передаёт основное содержание текста и не употребляется в тексте; в данном фрагменте передачи речь идёт о системе санитарного контроля, но не говорится о её примитивности: “For example, in Tanzania they work on safe water and sanitation systems in rural towns and villages.”

	3.4
	D
	 В тексте для аудирования содержится информация лишь об одной некоммерческой волонтёрской организации, что не соотносится со словом “all” в вопросе: “It’s a very small non-profit organisation working from the capital, Guatemala City.”
В тексте для чтения не содержится информации о некоммерческой деятельности волонтёрских организаций.

	3.5
	C
	В тексте для аудирования содержится данная информация: “There are so many organisations out there, so I’m just going to run through a few that I know can be trusted because, believe me, some cannot.”
В тексте для чтения не содержится информации о необходимости избегать сотрудничества с некоторыми волонтерскими организациями, говорится лишь о необходимости откорректировать программы: “These problems do not mean that volunteer work should be abandoned, but volunteer experiences need to be reframed and programmes reworked.”

	3.6
	D

	В тексте для аудирования не содержится данной информации, напротив, приводятся примеры различных по цели волонтёрских проектов: “Well, the first one is called Safe Passage or Camino Seguro… Its mission is a very important one – to bring hope, education, and opportunity to families living in extreme poverty around the city’s main rubbish tip… Another organisation I’d recommend is called Raleigh International… in Tanzania they work on safe water and sanitation systems in rural towns and villages… And then finally there is United Planet where you can choose from lots of different schemes of different durations and in many different countries.”
В тексте для чтения не содержится данной информации, приводятся примеры различных проектов, реализуемых с различными целями: “Yet these efforts to help people and the environment have come under heavy criticism. Voluntourists’ ability to change systems, alleviate poverty or provide support for vulnerable children is limited.”

	3.7
	B
	В тексте для аудирования не содержится информации об информировании волонтёров.

В тексте для чтения содержится данная информация: “These problems do not mean that volunteer work should be abandoned, but volunteer experiences need to be reframed and programmes reworked. Any organisation taking people to volunteer sites ought to be preparing them with adequate information before they go as well as opportunities for critical discussion during and after their trips.”

	3.8
	B
	“Our topic today is antibiotics – or rather the future of antibiotics… Dr Reynolds, the headlines in the newspapers this week have been rather alarming. They seem to suggest that antibiotics will no longer work ten years from now… But seriously, what is the outlook for antibiotics, do you think?”

	3.9
	B
	“Feature: a part of a programme on television or radio that concentrates on a particular subject” (в данном случае основной темой обсуждения являются антибиотики).

	3.10
	B, C, D, F, H
	Следующие слова и фразы не являются ключевыми для понимания содержания текста и не могут использоваться в качестве тэгов для поиска данной аудиозаписи:

Cost-effective research – противоречит основному содержанию текста, так как в тексте говорится о том, что исследование антибиотиков не является прибыльным для фармацевтических компаний: “Well, antibiotic research is very difficult. And it’s also not very profitable for pharmaceutical companies.”
Optimistic outlook – противоречит основному содержанию текста, так как доктор Рэйнолдс не считает будущее антибиотиков оптимистичным: “But seriously, what is the outlook for antibiotics, do you think? – I wish I could be more optimistic.”
International medical tourism – данное сочетание не передаёт основное содержание и не употребляется в тексте.

	3.11
	D
	В тексте для аудирования содержится информация, противоречащая данному утверждению: “Apart from that, resistance to the drugs makes antibiotics useless after a while – so researchers have to start all over again.”
В тексте для чтения не содержится информации о том, как быстро антибиотики теряют свою эффективность: “The world is facing a potentially disastrous future: the antibiotics we use to cure everyday infections are becoming useless against certain bacteria.”

	3.12
	D
	В тексте для аудирования не содержится информации о новом гене, повышающем эффективность антибиотиков.

В тексте для чтения также не содержится данная информация.

	3.13
	A
	В тексте для аудирования содержится информация о последствиях, к которым может привести незавершенный курс антибиотиков: “Many people stop taking them once they start feeling better – and don’t complete the full course. This is dangerous because it can create even more drug-resistant bacteria.”
В тексте для чтения также перечисляются последствия незавершенного или прерванного курса лечения и содержится информация об устойчивых к воздействию лекарств инфекциях: “In part, this is due to the fact that incomplete and interrupted treatment contributes to persistent or resistant infection, complications of the disease, and increased risk of transmission of resistant organisms to others.”

	3.14
	C
	В тексте для аудирования содержится данная информация: “Fleming himself warned us about this about 80 years ago! … He said that resistance would happen and suggested the use of antibiotics should be very carefully restricted.”
В тексте для чтения не содержится информации о том, что А. Флеминг рекомендовал контролировать использование антибиотиков:  “If this post-antibiotic era comes to pass, by 2050 it could kill more people every year than cancer. Sadly, Scottish scientist Sir Alexander Fleming predicted this fate 80 years ago, soon after he made his famous accidental discovery in 1928.”


Скрипт аудиозаписи № 1
I = Interviewer
J = Julie Sanders
I: 
So, you’d like to know a little more about ‘voluntourism’, but you’re worried about choosing the wrong charity or even about there being other commercial interests involved in the package. We’ve brought ‘voluntourism’ specialist Julie Sanders into the studio to give us some more information about the top organisations you could apply to. Hi Julie!
J:
Hi there Clive!
I:
It looks quite bewildering for somebody who knows nothing about volunteer work. Is that correct?
J:
Well, yes. There are so many organisations out there, so I’m just going to run through a few that I know can be trusted because, believe me, some cannot. These vary from very small charities specific to one community to others which offer a vast number of different trips and different timeframes.
I:
Great! Fire away!
J:
Well, the first one is called Safe Passage or Camino Seguro. It’s based in Guatemala. It’s a very small non-profit organisation working from the capital, Guatemala City. Its mission is a very important one – to bring hope, education, and opportunity to families living in extreme poverty around the city’s main rubbish tip.
I:
Wow! That sounds tough.
J:
Yes, it is. There is a high level of illiteracy there, so teaching is a big part of the job. Believe it or not, there are around 300 families and 600 children in precarious conditions there. It would be a very rewarding option, but working conditions are very hard. This is no holiday, remember.
I:
Okay, point taken.
J:
Another organisation I’d recommend is called Raleigh International. They work in just a few countries only: Tanzania, Nepal, Borneo, Costa Rica, and Nicaragua, I think it is. So, their projects are well focused and highly beneficial to the local communities. For example, in Tanzania they work on safe water and sanitation systems in rural towns and villages. If you chose that option you’d work very closely with the community. The project also focuses on raising awareness of good water hygiene to avoid diseases like cholera or diarrhea. Projects like this are good because they should have long-term benefits.
I:
Sounds like that would be a very fulfilling thing to do.
J:
And then finally there is United Planet where you can choose from lots of different schemes of different durations and in many different countries. You should really ask their advice about what’s the best option for you. They look at your CV and then decide really.
I:
Wow! Like tailor-made projects.
J:
Yes. And the good thing about this organisation is that they arrange trips absolutely everywhere, including Western Europe where your contribution can still make a difference to the lives of children, the sick or the elderly. People often ignore the fact that volunteers can work in so-called privileged societies. You know, it’s important to remember that there are people in need everywhere, even round the corner from where you live. 
I:
Good point! That’s something most of us probably forget how lucky we really are…
Скрипт аудиозаписи № 2

I = Interviewer
D = Dr Reynolds
I:
Hello and welcome to our weekly broadcast of Science and Discovery. Our topic today is antibiotics – or rather the future of antibiotics. And to discuss it with us today, we have Dr Amanda Reynolds, medical researcher and specialist in infectious diseases. Good afternoon, Dr Reynolds. Thank you for joining us.

D:
Thank you. It’s a pleasure to be here.

I:
Dr Reynolds, the headlines in the newspapers this week have been rather alarming. They seem to suggest that antibiotics will no longer work ten years from now. But haven’t scientists been saying this for a long time?

D:
Well, antibiotic research is very difficult. And it’s also not very profitable for pharmaceutical companies. People usually take antibiotics for only very short periods of time, while medication for heart conditions, for instance, are usually fairly long-term. Apart from that, resistance to the drugs makes antibiotics useless after a while – so researchers have to start all over again. Interestingly, Fleming himself warned us about this about 80 years ago!

I:
Really? You mean Alexander Fleming, the scientist who first discovered penicillin in 1928?

D:
Yes. He said that resistance would happen and suggested the use of antibiotics should be very carefully restricted. 

I:
I’m amazed! That certainly hasn’t happened though, has it? People want antibiotics to cure everything, including colds, coughs and sore throats.

D:
Exactly. We do try to explain to patients that antibiotics are useless against viral complaints like colds. But people often beg for them so as to get on with their normal lives more quickly. It’s often hard for doctors to resist.

I:  
Yes, I can imagine. I think I’ve been guilty of that myself! But seriously, what is the outlook for antibiotics, do you think? 

D:
I wish I could be more optimistic. Better hygiene is the key thing here, not only in hospitals but at home. Things like keeping your kitchens and cooking areas clean, washing your hands before meals, and so on.

I:
Right – and campaigns in schools and on the TV to support it?

D:
Absolutely. And the second thing is to use antibiotics more sparingly and more carefully. Many people stop taking them once they start feeling better – and don’t complete the full course. This is dangerous because it can create even more drug-resistant bacteria. And last but not least, there’s the issue of global health. This is not just a British problem. It’s worldwide. It’s vital that world governments get together with global pharmaceutical companies. They urgently need to fund more research to discover new ways of fighting these superbugs.

I:
Dr Reynolds, thank you very much for coming here today.

D: 
It’s been my pleasure.
Конкурс понимания письменного текста / Чтение

	№ №
	Ответ 
	Комментарии

	4.1
	C
	Аутентичный заголовок статьи (C). Возможный заголовок статьи (A); допустимый вариант ответа.

	4.2
	C
	Единственный правильный ответ

	4.3
	A, C, D, F, H
	

	4.4
	A. True № 2
	“There was less bullying in secondary schools...” 



	4.5
	B. False № 16
	“The policy should be developed and implemented over a period of time, involving pupils, parents and staff.”

	4.6
	Schools often denied the problem: “There is no bullying here,” educators used to say. / Schools often denied the problem: educators used to say that there was no bullying in their schools.

	4.7
	implement
	Допускается минимально краткий ответ – знаменательное слово без служебного (существительное без артикля, глагол без личного местоимения и т.д.)

	4.8
	evidence
	

	4.9
	substantial
	

	4.10
	back up
	

	4.11
	(the) most serious
	Прилагательное в превосходной степени

	4.12
	the child feel (depressed)
	Сложное дополнение; объектная инфинитивная конструкция 

	4.13
	bullied
	Причастие II в функции определения

	4.14
	something
	Неопределенное местоимение

	4.15
	B
	Аутентичный заголовок статьи. Возможный заголовок статьи (С); допустимый вариант ответа.

	4.16
	C
	Единственный правильный ответ

	4.17
	A, D, F, G, H
	

	4.18
	A. True № 5
	“However, the prospect of a London grand prix has been ruled out for the foreseeable future after a spokesperson for the mayor of London said he would only support an event if Formula One teams significantly reduced the air pollution from their vehicles.

	4.19
	B. False  № 11
	“Westminster council, which is responsible for many of London’s most recognizable landmarks, said during the consultation that it would not consider hosting an on-road event…”

	4.20
	Allowing motor sport in public roads (The new rules) in the UK could lead to bigger European rallies or even a future Monaco-style grand prix in an English city.

	4.21
	additional
	Допускается минимально краткий ответ – знаменательное слово без служебного (существительное без артикля, глагол без личного местоимения и т.д.)

	4.22
	significantly
	

	4.23
	stage
	

	4.24
	consultation
	

	4.25
	(the) most recognizable
	Прилагательное в превосходной степени

	4.26
	their
	Притяжательное местоимение

	4.27
	allowing (races on highways)
	Герундий в функции подлежащего. Допускается герундиальная фраза в функции подлежащего.

	4.28
	for motor sports promoters to apply (for permission) 
	Инфинитивная конструкция с предлогом “for”. Допускается ответ без существительного (for permission).

	4.29
	B

	Аутентичный заголовок статьи. Возможный заголовок статьи (А); допустимый вариант ответа.

	4.30
	C
	Единственный правильный ответ

	4.31
	A, B, F, G, H
	

	4.32
	A. True № 3, 6
	“Until a hundred years ago, most journeys were in the 20 km range, the distance conveniently accessible by horse. (№3) Nevertheless, in Europe, with narrow streets, few parking lots and ring roads, most cities are still designed for the old modes of transport. (№6)”

	4.33
	B. False № 7
	“Clearly, the world cannot return to the horse-drawn wagon. (№ 7)”

	4.34
	Yes, it can.
№ № 11, 12, 13
	“One solution that has been put forward is the long-term solution of designing cities and neighbourhoods so that car journeys are not necessary – all essential services being located within walking distance or easily accessible by public transport. (№11) A more likely scenario seems to be a combination of mass transit systems for travel into and around cities, with small 'low emission' cars for urban use and larger hybrid or lean burn cars for use elsewhere. (№12) Besides, technical solutions can reduce the pollution problem and increase the fuel efficiency of engines. (№13)” 

	4.35
	essential
	Допускается минимально краткий ответ – знаменательное слово без служебного (существительное без артикля, глагол без личного местоимения и т.д.)

	4.36
	congestion
	

	4.37
	convenient
	

	4.38
	neighbourhood
	

	4.39
	wider или larger
	Прилагательное в сравнительной степени.

	4.40
	horse-drawn 
	Сложное прилагательное, образованное с помощью Причастия II 

	4.41
	being locked
	Герундий в страдательном залоге после глагола avoid в функции дополнения

	4.42
	A more likely scenario…to be (a combination)
	Субъектная инфинитивная конструкция



Конкурс на знание грамматики

	№ №
	Ответ 
	Комментарии

	5.1
	if it weren’t / were not for the difficult financial situation / if they were not in (such) a difficult financial situation
	Условное предложение второго типа в косвенной речи после главного предложения в прошедшем времени

	5.2
	wish you would stop / wish you’d stop / wish you stopped
	Сослагательное наклонение после фразы “I wish”

	5.3
	if/whether he had been trying
	Косвенная речь, согласование времен

	5.4
	unless they were kept / if they weren’t/were not kept
	Условное предложение первого типа в прошедшем времени

	5.5
	Isn’t it time you got rid of / Isn’t it time (that) you should get rid of
	Сослагательное наклонение после фразы “Isn’t it time”; возможны два варианта

	5.6
	for you to let
	Инфинитивная конструкция с предлогом “for”

	5.7
	until he was operated on / until they operated on him / until he had been operated on / until they had operated on him
	Придаточное времени в косвенной речи после главного предложения в прошедшем времени; Past Perfect после предлога “until” подчеркивает завершенность действия.

	5.8
	We seem to have been walking
	Форма инфинитива в конструкции подчеркивает предшествование и длительность (“for a while”).

	5.9
	to have some flowers delivered
	Сложное дополнение, причастная конструкция с причастием II после глагола “to have”

	5.10
	being told / having been told
	Герундий в страдательном залоге; после “just after” в данном значении перфектная форма не нужна, но допускается.

	5.11
	made the / her students fill out
	Сложное дополнение, инфинитив без частицы “to” после глагола “to make”

	5.12
	wish you would try / wish you’d try / wish you tried
	Сослагательное наклонение после фразы “I wish”

	5.13
	If it hadn’t / had not been for her stubbornness / If she hadn’t/had not been (so) stubborn / Unless she had been (so) stubborn / If it were not /weren’t for her stubbornness / If you were not / weren’t (so) stubborn / Unless you were (so) stubborn
	Условное предложение третьего типа / условное предложение смешанного типа

	5.14
	Evan is known to have been involved
	Перфектный инфинитив в конструкции подчеркивает предшествование

	5.15
	if he is tried
	Условное предложение первого типа 

	5.16
	if/whether they had been going to clean that/the mess up
	Косвенная речь, согласование времен 

	5.17
	Isn’t it time you found/ Isn’t it time (that) you should find
	Сослагательное наклонение после фразы “Isn’t it time”; возможны два варианта. 

	5.18
	unless she were/was offered/ if she were not/weren’t/was not/wasn’t offered/ unless they offered her/ if they did not/didn’t offer her
	Условное предложение первого типа в косвенной речи после главного предложения в прошедшем времени

	5.19
	for the waiter/waiter’s forgetting/ for the waiter/waiter’s having forgotten/ because of the waiter/waiter’s forgetting/ because of the waiter/waiter’s having forgotten
	Герундиальная конструкция; после глагола “to apologize” требуется предлог “for” или предлог “because of”.

	5.20
	for the witness to feel/ for the witness to be able to feel
	Инфинитивная конструкция с предлогом “for”; второй вариант подчеркивает модальность.

	5.21
	let the police search
	Сложное дополнение, инфинитив без частицы “to” после глагола “to let”

	5.22
	He is said to have been threatening
	Перфектный инфинитив в конструкции подчеркивает предшествование.

	5.23
	if it was allowed
	Условное предложение первого типа в косвенной речи после главного предложения в прошедшем времени

	5.24
	wish she would let / wish she’d let / wish she let
	Сослагательное наклонение после фразы “I wish”

	5.25
	Isn’t it time you took / Isn’t it time (that) you should take
	Сослагательное наклонение после фразы “Isn’t it time”; возможны два варианта.

	5.26
	if it hadn’t / had not been for your / you trying so hard / if you hadn’t / had not tried so hard / if you hadn’t / had not been trying so hard / unless you had tried so hard / unless you had been trying so hard
	Условное предложение третьего типа 

	5.27
	for them to do
	Инфинитивная конструкция с предлогом “for” 

	5.28
	If / whether they / her friends had been following him on Facebook
	Косвенная речь, согласование времен 

	5.29
	the burglars of setting / the burglars of having set
	Герундий; после глагола “to suspect” требуется предлог “of”; перфектная форма в данной ситуации не обязательна, но допускается.

	5.30
	unless it is treated / if it is not / isn’t treated
	Условное предложение первого типа


Конкурс на знание лексики

	№ №
	Лексическая единица из оригинального текста и фрагмент текста
	Комментарии / Синонимы лексической единицы, допустимые в данном контексте

	6.1
	according
	В аутентичном тексте используется сочетание according to.

	6.2
	including
	В данном контексте требуется предлог including.

	6.3
	per
	В данном контексте требуется предлог per = for each.

	6.4
	ago
	earlier / before
В данном контексте требуется наречие ago или синонимичные ему наречия earlier и before.

	6.5
	increase
	growth / rise 

В данном контексте требуется имя существительное increase или его синонимы growth и rise, сочетающиеся с последующим предлогом in.

	6.6
	such
	В данном контексте требуется местоимение such, дополняющее фразу such as вводящую примеры = to introduce an example or examples of something we mention.

	6.7
	spend
	В данном контексте требуется глагол spend = to use time doing something.

	6.8
	than
	В данном контексте требуется предлог than после прилагательного в сравнительной степени bigger. 

	6.9
	Despite
	В данном контексте требуется предлог despite. Синонимичные конструкции regardless of / in spite of не могут быть зачтены как верные, так как противоречат условиям задания. Согласно требованиям, необходимо заполнить пропуск только одним словом. 

	6.10
	remained
	В данном контексте требуется глагол remain в форме причастия прошедшего времени, образующего вместе с вспомогательным глаголом has форму настоящего перфектного времени или его синоним keep в форме причастия прошедшего времени = kept.

	6.11
	participated 
	joined

В данном контексте требуется смысловой глагол participate или синонимичный ему join в форме прошедшего простого времени. Синонимичное выражение take part не может быть зачтено как верное, так как противоречит условиям задания. Согласно требованиям, необходимо заполнить пропуск только одним словом. 

	6.12
	place 
	В данном контексте требуется имя существительное place, образующее устойчивое сочетание с предшествующим глаголом take в форме настоящего перфектного времени. 

	6.13
	events 
	competitions / contests / races / marathons

В данном контексте требуется имя существительное event в форме множественного числа или синонимичные ему имена существительные сompetition, contest, race, marathon в форме множественного числа.

	6.14
	themselves
	В данном контексте требуется местоимение themselves.

	6.15
	 raise 
	collect 

В данном контексте требуется глагол raise в форме инфинитива или синонимичный ему collect, образующий с последующим сочетанием money for charity устойчивое выражение raise / collect money for charity. Синонимичные глаголы give / donate не могут быть зачтены как верные, так как после указанных глаголов требуется предлог to = give / donate money to charity.

	6.16
	out
	В данном контексте требуется предлог out, образующий совместно с глагольным компонентом фразовый глагол stand out = be very impressive.

	6.17
	attention 
	В данном контексте требуется имя существительное attention, образующее устойчивое сочетание с предшествующим глаголом draw = draw attention to something.

	6.18
	wedding
	В данном контексте требуется заполнить пропуск компонентом существительного wedding dress.

	6.19
	with 
	В данном контексте требуется предлог with, сочетающийся с предшествующим глаголом diagnose = diagnose someone with something.

	6.20
	each other 
	В данном контексте требуется заполнить пропуск компонентом взаимного местоимения each other.

	6.21
	call 
	name

В данном контексте требуется смысловой глагол call в форме инфинитива или синонимичный ему name.

	6.22
	fast
	В данном контексте требуется смысловой глагол fast в форме третьего лица множественного числа простого настоящего времени.

	6.23
	up 
	В данном контексте требуется предлог up, образующий совместно с глагольным компонентом фразовый глагол use up = to finish a supply of something.

	6.24
	topped 
	covered

В данном контексте требуется причастие прошедшего времени topped для образования сочетания be topped with something или синонимичное причастие прошедшего времени covered.

	6.25
	hold


	organize / stage

В данном контексте требуется глагол hold в форме третьего лица множественного числа простого настоящего времени или его синонимы organize или stage в форме третьего лица множественного числа простого настоящего времени.

	6.26
	air 
	В данном контексте требуется имя существительное air.

	6.27
	make
	В аутентичном тексте используется глагол make в форме инфинитива для образования сочетания make sure = to take action so that you are certain that something happens, is true. Сочетание be sure не может быть зачтено верным, так как имеет значение be certain of / about something.

	6.28
	 place
	В данном контексте требуется имя существительное place, образующее устойчивое сочетание с предшествующим глаголом take в форме третьего лица единственного числа take place.

	6.29
	competition 
	В данном контексте требуется имя существительное competition. 

	6.30
	from
	В данном контексте требуется предлог from, который употребляется после глагола suffer.


Конкурс письменной речи (Письмо)

Возможные варианты раскрытия тем эссе

В начале сочинения (introduction) выдвигается основная идея (topic statement). Если конкурсант выбирает первую тему (7.3), то эта идея заключается в согласии / несогласии с утверждением, что люди, которые пишут или исполняют музыку, могут влиять на нашу жизнь, участвовать в нашем развитии и становлении, например: “I agree (do not agree) with the above mentioned statement that a person who makes or performs music can teach us how to live”. В случае выбора второй темы (7.4), предполагается, что конкурсант будет выражать свое согласие / несогласие с утверждением о негативном влиянии английского языка на европейские языки. В третьей теме (7.1) с самого начала следует обозначить идею о том, что молодежь может влиять на жизнь своей страны. Выбрав четвертую тему (7.2), во вступлении конкурсант называет три слова, которые наилучшим образом могут охарактеризовать английскую нацию.

В центральном коммуникативном блоке приводятся аргументы в пользу или против вышеупомянутого утверждения, в частности, дается пример такого человека и его влияния на жизнь автора или пример того, когда влияние не имело место быть (7.3), или приводятся аргументы и примеры, которые помогают оценить факт возрастающей роли английского языка как угрозы либо как положительного момента (7.4), или раскрываются возможности и приводятся примеры влияния молодежи на жизнь страны (например, во время выборных кампаний, выступлений в защиту прав животных, волонтерской деятельности и др.) (7.1), или объясняется выбор конкурсантом слов, описывающих характер, привычки либо традиции англичан, приводятся примеры, возможно, случаи из жизни, когда учащийся находился в языковой среде (7.2). Каждый абзац центральной части (main body) соотносится с предыдущим такими речевыми средствами связи, как: “firstly”, “moreover”, “furthermore”, “finally” и другими. Ядром каждого абзаца является предложение (thesis statement), выражающее его основную мысль. Помимо thesis statement в абзаце должно быть предложение, которое подтверждает основное утверждение в абзаце (supporting statement). В качестве supporting statement нередко выступают примеры.

В заключении (conclusion) делается вывод о том, что люди, занимающиеся музыкой профессионально, могут иметь влияние (положительное или отрицательное) на нашу жизнь (допустимы выводы о причинах неспособности таких людей что-либо изменить в жизни других людей) (7.3), или о негативном / положительном влиянии английского языка на европейские языки (7.4), или о важной роли молодежи в жизни любой страны (7.1), или о том, что каждая нация имеет свои характерные особенности, которые нужно учитывать в межкультурном общении (7.2).

Допускаются индивидуальные, творческие варианты раскрытия темы.
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